) ot /- 4

Racing Screers

- SPORT V-TECH FOR -

YAMAHA XMAX 300

X © ALLEN

Ne 3
N° 5

PHILLIPS

 ECIE

Diff

1 person 15 min
ID PART DESCRIPTION QTY  REF
1 Sport V-Tech 1 9474F/H/N/WM3
2 Eyy M5x25 @11 1SO 7380 Allen screw 4 TORNI-17380-766
3 @ M5x1 nylon washer 4 ARNV00000000245
4 @ Tapén tornillo M5 1SO 7380 4 TAPON 85
5 4,5 x @14 x 4mm rubber washer 4 ARAND-GD13D5X4-

Pg. 1/2



https://www.motorcycleid.com/puig/

) ot /- 4

Racing Screers

- SPORT V-TECH FOR -

YAMAHA XMAX 300:'47

Pg. 2/2
If you’re looking for quality motorcycle windshields & fairings, visit our website.


https://www.motorcycleid.com/windshields-fairings.html

